
You are managing the OR and have been told to come up with the mix of surgeries and doctors that will yield $2,300,000. Currently your OR performs 5 different surgeries and has 3 different doctors. Your OR operates one shift per day with a maximum amount of 8,000 OR hours. The only constraints that you have been given are the following:

· No single surgery will exceed 30% of the total surgeries

· No single surgery will be less than 5% of the total surgeries

· No single doctor will have more than 45% of the total surgeries

· No single doctor will have less than 10% of the total surgeries

· The total number of patients must be an integer (set the constraint to “int”)


Using Linear Programming, calculate the total number of surgeries and the percentage of surgeries by type (1-5) and doctor (a-c) that yields a profit of $2,300,000.
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	1
	a
	2.3
	7,350 
	6,657 

	
	b
	3.5
	9,766 
	9,125 

	
	c
	5.7
	13,765 
	13,198 

	
	
	
	
	

	2
	a
	2.7
	7,112 
	6,758 

	
	b
	4.1
	9,126 
	8,897 

	
	c
	7.9
	11,090 
	10,432 

	
	
	
	
	

	3
	a
	2.6
	8,534 
	7,543 

	
	b
	3.3
	10,881 
	9,812 

	
	c
	5.7
	11,982 
	9,981 

	
	
	
	
	

	4
	a
	2.4
	6,989 
	5,430 

	
	b
	3.9
	9,456 
	8,972 

	
	c
	6.1
	14,001 
	12,913 

	
	
	
	
	

	5
	a
	2.1
	7,765 
	6,652 

	
	b
	3.4
	7,987 
	6,987 

	
	c
	6.0
	12,050 
	10,897 


